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S et A = 60,000 %32 %1235 2,160 1,440 720
201 et 3| 541,865 308,865 233,000
01 AtR2elt] 468,735 261,735 207,000
2 a2 2,500,000 %1501 12 450,000 243,000 207,000
02 Z523| 73,130 47,130 26,000
rapliei= 4,500,000 * 12 54,000 33,000 21,000
ANEEHIRX 10,000 5,000 5,000
206 M=H| 5,805,000 1,800,000 4,005,000
01 =4I 5,805,000 1,800,000 4,005,000
S3zZ4 AERLI 5,800,000 1,800,000 4,000,000
AE MY ZAF A2 2| 5,000 0 5,000
307 212t01™ 236,532 140,000 96,532
05 SIZtRAEZ 236,532 140,000 96,532
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= 1,164,214 724,608 439,606
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= 24,900 23,400 1,500
Al 38,100 34,600 3,500
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